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NO.0+8.5 0.6 — —
SP.1
(NO.0+16.12) 7.6 0.5 0.55 4.2
NO.1 3.9 0.0 0.25 1.0
EC.1
(NO.1+9.03) 9.0 0.6 0.30 2.7
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NO.0+8.5 = 0.50 2= = 0.61 — =
SP.1
(NO.0+16.12) 5.10 3.00 1.750 8.9 2.33 1.470 7.5
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EC.1
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SP.1
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SHEET =X 1
TAZ 7/ T = 1

77y % —7(RC-40)
T & i t=15cm it 205

R Fawea (M-30)

LB t=10cm nf 207




6 T.X, [=40.0m, W=5.0m

T = & & N iR &

# H i Fi i Gl il il i, & BALl &% & i
FRLET A3
xE t=4cm nt 206
BT T z 1
FEARIRH S T = 1
H—KL—)v av7J—hH A, Gr-C-2B m 24
I +H A, Gr-C—4E m 4







gi:o il i il 7l ¥ Hir | % &

E T = 1
HOHl T FEY 1

00 [0am=)) 7 m” 79.2

EICE—7) | +Rp m® 49.0

BisE LT Ea 1

At i1+, B<2.5m m” 0.8

EEEE 2N 1

IR (2% ET) m’ 24.1

AT = 1

w

7 HALFE +w m 157.6




T ITHEEHR

" e T
" ol AR T
Z] f}lﬁ ﬂ ﬁu(}#@) (21'—7"/7Jyl\) (B<2.5m) HE*ED iﬁ;b
Yl HEE 79.2 49.0
N e 0.8
BERET{E¥X L T EHEE 65.1 31.3
3 3 3 3 3
m m m m m
AN =
= R 79.2 49,0 0.8 65.1 31.3
R LALE T
V=(79.2+49.0+65.1)—(0.8+31.3)/0.9= 1576 m

(Fril+Ad—7" Jr oy MIRYR) - (BR B+ /0.9




#EE) T B HEE
B AR E 1[G ) WEIE—F b
B AE = BRE | woRY | LB | LM | m R | T® | M | @K | B | R | B | P® | LM ]
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NO.0-20.0 - 1.7 - - - - - NO. ORI % 1E A
NO.0 20.0 1.7 1.70 34,0 1.2 == —
BC.1
(NO.0+8.00) 8.0 2.7 2.20 17.6 1.3 1.25 10.0
NO.1 12.0 0.5 1.60 19.2 1.1 1.20 14.4
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NO.1 11.4 9.7 2.70 30.8 1.3 1.30 14.8 1.3 1.30 14.8
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NO.0 = 5.1 — =

BC.1

(NO.0+8.00) 8.0 5.3 5.20 41.6

NO.1 12.0 4.9 5.10 61.2

EC.1

(NO.1+5.06) 5.1 5.0 4.95 25.2
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NO.1 12.0 4.80 4,985 59.8 4.87 5.055 60.7 4,90 5.085 61.0
EC.1
(NO.1+5.06) 5.1 4.80 4,800 24.5 4.87 4.870 24.8 4,90 4,900 25.0
BC.2
(NO.1+12.52) 7.4 5.30 5.050 37.4 5.30 5.085 37.6 5.20 5.050 37.4
NO.2 7.5 6.17 5.735 43.0 6.17 5.735 43.0 6.07 5.635 42.3
&t 40.0 205.1 206.8 206.1
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